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Question Number : 1 Question Id : 4058591105 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
4x+3

If f(x ¥ —i and (fof) (x) = g(x). where g: R —{
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gogog) (4) 13 equal to

Options :
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4058593504. —4
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Question Number : 1 Question Id : 4058591105 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

afy r(;)—f% H—- aUl (fof) (x) = g(v). %*ﬂﬁgiﬁ‘{‘*_’j& Ejl%
gogog) (4) TR B
Options:

E
4058593501. 20

4058593502. 4

19
4058593503. 20

4058593504. —4

Question Number : 2 Question Id : 4058591106 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let S be the set of postive integral values of a for which

ax® + 2{a+1)x+9a+4
x* —8x+32

Options :

< 0.V x € 5. Then. the number of elements in S 1s :

4058593505. 1

4058593506. 3

4058593507. 0



4058593508. =

Question Number : 2 Question Id : 4058591106 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e i
T o % 7 Qo o, Rom 3 fog @ 2lat )y +9a+d oo en @

x-—8x+32
Iy s ol di s o 3ggdl $t g=m |
Options :

4058593505. 1

4058593506. 3

4058593507. 0

4058593508. =

Question Number : 3 Question Id : 4058591107 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

b 2x°+1 1+3x

If f(x) P +2  2x ' +6| forall x € EL then 2 £(0) + £ (0) is equal to

1 el

X —-x 4 =2

Options :

4058593509. 24

4058593510. 18



4058593511. 4.

4058593512. 48

Question Number : 3 Question Id : 4058591107 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2841 143
gRAMIx e P RU r(x)=p?+2  2¢  P+6 ©.d12£(0)+F(0) SR
X —x 4 x* =2

gl

Options :

| )
e

4058593509.

4058593510. 18

4058593511. 42

4058593512. 48

Question Number : 4 Question Id : 4058591108 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If the system of linear equations

x—-2y+z=-4
2x+oay+3z=1
3x—y+Pz=3

has infinitely many solutions. then 12a + 13 1s equal to



Options :

I
=y

4058593513. 5

-]
(s

4058593514, °
4058593515. 60

4058593516. 64

Question Number : 4 Question Id : 4058591108 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ofe YRae g el

x=2y+z=-4
2X+oy+3z=45
3x—-y+Pz=3
& IFdEA B, dl 120 + 13p TR

Options:

]
e

4058593513.

-
[wa]

4058593514,

4058593515. 60

4058593516. 64

Question Number : 5 Question Id : 4058591109 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

; 1 2 3 :
The sum of the series il —r 5—— - up to 10-terms is
1-3-1" +1 | =3-224+27 1-3.-3+3

Options :

il
4058593517 109

35

4058593518. 109

_
4058593519, 109

45

4058593520. 109

Question Number : 5 Question Id : 4058591109 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2 3 - =T
: +———+.. 10 U3I TP DI AN &

i Y
1-3-1"+1" 1-3-2°+2" 1-3-37+3

Options :

il
4058593517, 109

55

4058593518. 109

_
4058593519, 109



45

4058593520. 109

Question Number : 6 Question Id : 4058591110 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2lsin x .
e —2sinx|—1
lim
x—0 X

3

Options :

4058593521, 1s equal to 2
4058593522, 15 equal to 1

4058593523, 1s equal to —1

4058593524, does not exist

Question Number : 6 Question Id : 4058591110 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

2lsin x .
e —2[sinx|-1
o

lim
x—0 x

Options :

4058593521, 2 & SIS ©

4058593522, 1 CACRIC RS



4058593523, —1 & SRI&R g

4058593524, P K@ 81 &

Question Number : 7 Question Id : 4058591111 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let a be the sum of all coefficients in the expansion of
s log(1+1)
_.. ol
~Tlim| o (7 +1 . If the equations

x=0 2

X

(1-2x+2x%)* 0% (3-4x?+2x°)* " and ,

7 7
ex“+dx+e=0and 2bx* + ax + 4 =0 have a common root. where
c.d.e €5, thend:c:eequals

Options :

| R
ik
=

4058593525.

4058593526.1:1:4

4058593527. 4:1:4

2
oY

4058593528. 1 :

Question Number : 7 Question Id : 4058591111 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



M (1-2x+2x3)2923 (3-4x2+2%)202* & yR O 9l &l & T[uiiepl H1a1M 2 8

log(1+1
flogliti, . ,,
Cpiml o £ 1 | Bl GHIBRUN ex? + dx + e = 0 TUT 2627 + ax

x>0 2
X

adr

+4=D$[Q$3Wﬁgﬂﬁ%.ﬁc.d.e€ _%?ﬁd At eW%I
Options :

| )
o
=

4058593525.

4058593526.1:1:4

4058593527. 4:1:4

[ ]
o

4058593528. 1 :

Question Number : 8 Question Id : 4058591112 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ForO<c<b<alet(a+b-2c)x>+(b+c—2a)x +(c+a—2b)=0and
o # 1 be one of its root. Then. among the two statements

(I) If @ € (—1. 0), then b cannot be the geometric mean of a and ¢

(II) If o € (0, 1), then b may be the geometric mean of a and ¢
Options :

4058593529, only (I) is true

4058593530. only (II) 1s true

4058593531, Both (I) and (II) are true

4058593532, Neither (I) nor (II) 1s true



Question Number : 8 Question Id : 4058591112 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

D*ic{b=i£a,_%%lﬂrﬂ:ﬂ(a+E}—Ec]x2+(b+c—l‘a}r+[c+a—15]=[]aﬂ
UP Od o 1 51 d &l HYA|

(1) TME o € (-1, 0) 8. I a TUT ¢ BT UK H1¢4 b o] &1 Fbal|
(I1) TS o € (0. 1) 8. Tl a TUT ¢ BT IUINTR T b B Fhal 5 |

Options :

4058593529, P9 (1) qa e

4058593530, Pad (1) T ©

4058593531, (1) TUT (11) & I §

4058593532, 71 A1 (1) &I (1) I §

Question Number : 9 Question Id : 4058591113 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let g(x) be a linear funchion and f(x)= o= . 15 continuous at x = 0.

If /(1) =f(~1). then the value g(3) is
Options:

4058593533.



4058593534,  \9e "

1. (4)
~Mgr| +1
4058593535, 3

log, i}—]
4058593536. \9/

Question Number : 9 Question Id : 4058591113 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

M g(x) U P Ba g aul f(x)=-

F)=7(-1)8 A3 PTAAEI

Options :

1 / 4 %
E 1“?::.' 13 |
4058593533. - e )

[ 4
log,_,_. | 73 )
4058593534, \ e

1 [43L|

~Mgr
4058593535, 3 \9)J

4058593536.



(4
log,| — |1
3

Question Number : 10 Question Id : 4058591114 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

wlx=1)(x-2)

(x=3)(x-4)

The area of the region 4 (x.v): v” <4x,x< 4,

Options:

3
4058593537. 3

4058593538. 3

4058593539. .

b4
4058593540, 3

Question Number : 10 Question Id : 4058591114 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

xlx-1){x-2)
(x=3){(x-4)

&= (x,7): v <4x,x<4, >0, xz3 DI W%I
Options :

8
4058593537. 3



4058593538. 3

4058593539. .

Lo
4058593540, 3

Question Number : 11 Question Id : 4058591115 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let y = y(x) be the solution of the differential equation

v (tanx)+ v T s = T
— == ) — .x €| 0,— | satisfying the condition y| — |=2.
dx  sinx(secx —sinxtanx) 2 "4

).
Then. y[—] 18
3

Options :

4058593541, V3 (2 +log, 3)

E{Z +log, 3)
4058593542, 2

V{E(2+ log,, \E]

4058593543.

4058593544, Vv3(1+2log,3)



Question Number : 11 Question Id : 4058591115 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

v lanx : A
e Srae aftpny & - anx)+y *IE[G‘;\%WJ':»‘("}%
.

dx  sinx(secx —sinxtanx)
3
feg 1[EJ =281 L(g] R P

Options :

4058593541, V3 (2+log, 3)

ﬁ{z +log, 3)
4058593542, 2

\E{Zi— log,. \E]

4058593543.

4058593544, V3 (l +2log, 3)

Question Number : 12 Question Id : 4058591116 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The solution curve of the differential equation

dx
J-’E - .‘f[lﬂge x—-log, y+ l), x > (), ¥ >0 passing through the point (e, 1) is

Options :

2 I{'}gci =y+1
4058593545, ¥

4058593546.



log, =|=y
X
y
log, —|=x
4058593547. A
X
log, —=y
4058593548. i 4

Question Number : 12 Question Id : 4058591116 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

féig (e. 1) T BIHI W dTell, Sdh ol FHIBI

d
_]d—j = x(log, x —log, y+ I).x} 0,y >0 BT 5 aH &

Options:
4
2|log, —| =y +1
4058593545, :
log, l‘ —— }J‘E
4058593546, X
Yy
log, —|=x
4058593547. A
€
log, —|=y

4058593548. ’



Question Number : 13 Question Id : 4058591117 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. ~ . 7 g .
If one of the diameters of the circle x* + 3~ — 10x +4y + 13 = 0 18 a chord of
another circle C. whose center is the point of intersection of the lines
2x + 3y =12 and 3x — 2y = 5, then the radius of the circle C 1s :

Options:

4058593549, v20

4058593550. 6

4058593551, 32

4058593552. 4

Question Number : 13 Question Id : 4058591117 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TR Gl x? + )7 — 10x +4y + 13 = 0 I U A, Th IR 9 ¢, o1 i,
i@&ﬁzxgj}:12?{%[3:{-1}-:SWH%%E‘F{%@%.ﬁWGﬂHT%ﬁQHC
CARF

Options :

e
4058593549, V20

4058593550. 6

4058593551, 32



4058593552. 4

Question Number : 14 Question Id : 4058591118 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let a. B. v. 6 € Z and let A(e.p). B(1.0). C(v.0) and D(1.2) be the vertices of a
parallelogram ABCD. If 45 - /10 and the points A and C lic on the line
3y=2x+ 1. then 2(o + p + v+ 0) 15 equal to

Options:

i

4058593553.
4058593554. 8
4058593555. 10

4058593556. 12

Question Number : 14 Question Id : 4058591118 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AT o, B. 7. 6 € Z € U HFT b FHIGR IgHS ABCD & WY 4(a.B). B(1.0).
C(v.8) TUTD(1.2) B181E 4p - 10 S AU g AR . 3@l
3y=2+1RE. W2 (a+p+y+5) W a|

Options :

4058593553. 5

4058593554, 8§



4058593555. 10

4058593556. 12

Question Number : 15 Question Id : 4058591119 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The distance of the point Q(0.2.—2) form the line passing through the point P(5, -4,

3) and perpendicular to the lines 7 = (-3? = 2,{) + 1(2.3 +37+ 5;’;} ,LeR and
Fa (5—2}+ﬁ2)+p(—f+3}+2,@), pekis:

Options :

4058593557. W 86

4058593558, V 74
4058593559, \ 4

4058593560, V20

Question Number : 15 Question Id : 4058591119 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

f&g P(5. -4, 3) Y EIH S aTell quT 3@

= (-3 +2k)+2 (20 3] +5k), L e R T

F= (;—2}+£)+p(—?+3}+2£)" we® & deaq @A fdg Q0. 2.2) P gd
gl



Options :

4058593557, N 86

4058593558, V 74
4058593559, \ 04

4058593560, V20

Question Number : 16 Question Id : 4058591120 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

.
If the foci of a hyperbola are same as that of the ellipse X | ¥ _ 1 and the

& 25

" - 15 e p :
eccentricity of the hyperbola is — times the eccentricity of the ellipse, then the

smaller focal distance of the point [ V2= =

1 on the hyperbola. 1s equal to
LY

3Vs,
Options :

5

_ 12 8
l.J—4—
4058593561, V5 3

.'
14 fg
-ﬁ

4
4058593562, V5 3

s
[2 8
-

7|
4058593563, V5 3

4058593564.



Question Number : 16 Question Id : 4058591120 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
2
!

afe U fTRaTa & . S -’;_1;:1 A1 AT 3 T

HfRaTg B Scbsdl, 4140 DI Sh=dl B %’ AT 8. dl SRy )

Ill I_ -
faig 2.2 2 | o amia gl i @
Y o it
Options:
. 'IE +§
4058593561, V5 3

2
14, /=
4058593562, V5

tad |

II 2

g
4058593563, V5 3

o0

ta]

T
4058593564, V5 3

Question Number : 17 Question Id : 4058591121 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Three rotten apples are accidently mixed with fifteen good apples. Assuming the
random variable x to be the number of rotten apples in a draw of two apples, the
variance of x 1s

Options :

4058593565. 153

4058593566. 153

4058593567. 133

4058593568, 153

Question Number : 17 Question Id : 4058591121 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ofl=1 7Tel §U T Tl H 15 3f=9 Yd § [ U1 599 9 &1 9 (HePTe W e §u
A d 99 ot TE &l U5y I x HHE At | df x BT TR0 ¢ |

Options:

4058593565. 153

40
4058593566. 133

A
4058593567, 153



57
4058593568, 153

Question Number : 18 Question Id : 4058591122 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let G=3i+ j—2k,b=4i + I+ 7k and ¢ =] 3] + 4k be three vectors. If a
vectors p satisfies ;frxg — &xp and p -d =10, then p (f = k) is equal to
Options :

4058593569. 28
4058593570. 24
4058593571. 36

4058593572. 32

Question Number : 18 Question Id : 4058591122 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR G =37+ j-2k,5 =47+ j+7k QU ¢=}-3}+4f S 1T TP
W p B jxb=cxh AU p-a=08@ p-(i-)-k) ReREI
Options :

4058593569. 28

4058593570. 24



4058593571. 36

4058593572. 31

Question Number : 19 Question Id : 4058591123 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two marbles are drawn 1 succession from a box contaming 10 red. 30 white, 20
blue and 15 orange marbles. with replacement being made after each drawing.
Then the probability. that first drawn marble is red and second drawn marble 1s
white. is

Options :

4058593573, 25
4058593574. 235

4058593575. 73

2
4058593576. 3

Question Number : 19 Question Id : 4058591123 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U% Sod § 10 19, 30 GG, 20 HId! TuT 15 AR ARGd 6 | 594 ¥ f AREd.
HiaRITT gigd FepTel §Id €1 dl Ued UREd & ol 9l g88 HREd & UG
HEEARINEINS




Options :

4058593573, 25
2
4058593574. 23

4058593575. 75

2
4058593576. 3

Question Number : 20 Question Id : 4058591124 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Foro.p.y20.ifsin! a+sin"! B+sin ! y=nand (e +P+7) (a—v+ )= 30p.
then y equals

Options:

4

VI
4058593577. 1

1

4058593578, +2

4058593579, 3

vi-=1

4058593580, 2v/2



Question Number : 20 Question Id : 4058591124 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
uﬂi?;&aTﬁmﬁﬁQQEJu+ﬂﬂ4ﬁ+ﬂﬁ4?=x%ﬂuﬁu+ﬁ+yﬂa—y+ﬁ}
=308, Ay WE 3

Options :

4

VI
4058593577. 2

1

4058593578, +2

i

4058593579, V3

J—j ]

4058593580, 2v2

Mathematics Section B

Section Id : 40585969
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Maximum Instruction Time : 0



Sub-Section Number : 1

Sub-Section Id : 40585969
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 21 Question Id : 4058591125 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Letd4 ={1.2.3.4} and R= {(1, 2),(2,3). (1,4)} be arelation on A. Let S be the
equivalence relation on A such that R — §and the number of elements in S is n.
Then. the minimum value of n 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 21 Question Id : 4058591125 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AFTA={1.2.3. 4} 30U ARTH IGYR = {(1.2), (2.3). 1.4} BI AFMAR
P gcrumﬁﬂms% Rc S auTs ¥ 3agdl & ¥ n g Al o BT HEqH dH
g

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 22 Question Id : 4058591126 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

; 5 i Z
If o denotes the number of solutions of - ,-r'|" =2 and f = [ | | J . where

T 4 I-\/_' Jr—i
z=—(1+i)
4 :rr+z l+\/_:_

(o, p) from the line 4x - 3y =7 1s

=5

i =+—1 | then the distance of the point

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Text Areas : PlainText
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1

Question Number : 22 Question Id : 4058591126 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

tr%j1_;|f*=gr$sﬁaﬁma%a%ﬂﬁ

z;':E(IJr.f]‘fjr I_\/EI Jr -
4" Jr +i l-I-\/_!:

palgds

Response Type : Numeric

J%’GIBT

'arg:(

i=-1 g ar ¥ 4x - 31—7@%&1

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
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Question Number : 23 Question Id : 4058591127 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The total number of words (with or without meaning) that can be formed out of the
letters of the word 'DISTRIBUTION' taken four at a time. 1s equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 23 Question Id : 4058591127 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

DISTRIBUTION' X[6& & 3&RI Y IR 3R] & -0 S I aTdl Teg (3ol
1 g 3l o T= §

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
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1

Question Number : 24 Question Id : 4058591128 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



i
; o ) 4 3 i
In the expansion of (1 +,1'}(1 —x‘) | 1+ 3 +—+ % ,x = 0. the sum of the
|, \ X IL e /.

3

coefficients of x> and x~ 12 is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 24 Question Id : 4058591128 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

5
[I—Hr:}(]—_'-:2)|rf1+§+iz+L_;H x# 0. PTARH H?-ﬂx'_l‘z'%;!tﬂlllﬁial—[

: & X x X/
g
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Question Number : 25 Question Id : 4058591129 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Let:S= (—].m) and [ :85 — R be defined as

f(x)=[ (e _|}' "(20=1) (¢=2) (¢-3)2 (20-10)" .
|

Let p = Sum of squares of the values of x, where f(x) attains local maxima on S,
and q = Sum of the values of x. where f(x) attains local minima on S. Then . the

value of p* + 2q is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 25 Question Id : 4058591129 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TS = (—1,00) 8TYUT /£ (x) = [ 1) @2e=1 (1=2) (1-3) (20-10)" ar FRT
|
RIS BeH £: 5 — RE
T p = & 37 HFL 98T £ § R WY 308 W $3dl 6. & a7l &1 a g

qYT q =x & 3 HFIL el £, § TR RIF YAqH U< Sl 5. SI A g1 ol p? +
2q BT
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1

Question Number : 26 Question Id : 4058591130 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

r

Let f:R—>R be a function defined by £(x) = 4 and
4% +2

-

F1-a) Fl-a)

M= J xsin® {_rl[l —:r:]l) de, N = [ sin’ [.r(] —x]l) de;a a.‘-%‘ If
Sar) Tla)

aM =BN, o, B e N. then the least value of ¢? +p?* is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Possible Answers :

1

Question Number : 26 Question Id : 4058591130 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
TAIGEA f:R >R, _H.x}=4_f - R AR e

fl1-al _;l-:l i)

M= j xsinﬂx{l—x])d\*. N= [ 5in4[_r(1—1‘]|) cﬁ';af_% gl1afe
Sar) Tla)

aM =BN,a,BeN &, Tl o2 +p2 DI I AH &
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Show Word Count : Yes
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Text Areas : PlainText
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1

Question Number : 27 Question Id : 4058591131 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

b | —

If the integral 554

11 § )
iy o 3“,1.?{1 +(_—_-GI3.EIJ i is equal to (nﬁ—ﬁii].then M 18

= e

N

equal to

Response Type : Numeric
Evaluation Required For SA: Yes
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1

Question Number : 27 Question Id : 4058591131 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T

a4 11

2

3

\
1+ {'.'U.S'EIJ dy = (rh.E —64] %Eﬁ nRIR T

i | —

ICESEICE 525I5in21 cos2x

0 \
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Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Let the foc1 and length of the latus rectum of an ellipse
) 2

I_j + 1’_1 =l,a>bh be(iiﬂ] and ,/5(). respectively. Then, the square of the
u.ﬁ- -

3
eccentricity of the hyperbola lj s L] equals

b a’b’

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
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Question Number : 28 Question Id : 4058591132 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

01 (& dlefad i_izl_ﬂ;.g_ﬁ#uﬁw#uﬁasﬂmﬁﬁaﬁm:

a- b

(45,0) TUT 50 %Fm}raﬁwi_ Y — | @I Seb5dl DI Il aRIER
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1

Question Number : 29 Question Id : 4058591133 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Let Q and R be the feet of perpendiculars from the pomt P(a. a. a) on the lines
x=y.z=1 and x =—y. z = —1 respectively. If 2QPR is a right angle. then 12 a” s
equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 29 Question Id : 4058591133 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Iﬂ:ﬂﬁgP{a. a. a}@wéﬁ x=r.z=1dYlx=—.z=-1W STel T Tl & Ule
FHAYN QAUTR T1 U LQPR UH THGIU &, Tl 12 o SR o
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1

Question Number : 30 Question Id : 4058591134 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

h| = 4,and L;j.g;zzlf

Let g and p be two vectors such that |d]=1,

c=|2a x.h') ~3b and the angle between j and ¢ is a. then 192 sina is equal to

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 30 Question Id : 4058591134 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

O & GiaRl g qU j & U 6| = 1,]p| = 4.9 5.5 =7 130G
i=(2axb)-36 87Ul j 3R ¢ 8P & DIV o7, ql 192 sin?e IR
J
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Question Number : 31 Question Id : 4058591135 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
1

A force 1s represented by F = 52 4 2

where x = distance and ¢ = time. The dimensions of b*/a are:

Options :

4058593591, [MLT ]
=11
4058593592, [ML™T7]
23

4058593593, [ML"T "]

33
4058593594, [ML"T ]

Question Number : 31 Question Id : 4058591135 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

% 9d ! (99 UeR yeiid fear g "

1
< 1
=ax" +bi?

SRl x=a d =999 5 b2/ B! a0 &:



Options :

4058593591, [MLT ]

ar—11
4058593592, [ML™T 7]

23
4058593593, [ML"T™]

33
4058593594, [ML"T™]

Question Number : 32 Question Id : 4058591136 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

: ; . o 3
The relation between time 't ' and distance 'x'1s t = ax” + Px, where o and P are
constants. The relation between acceleration (a) and velocity (v) 15 :

Options :
4058593595, a = —2m°
4058593596, a = —3m~

4058593597, a = -4

4058593598, a = —So°

Question Number : 32 Question Id : 4058591136 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



UG '+ TUTGRI x B G £ = ax? + Bx ©. 9161 o AT p [0S & | T@RUT () TUT
T (v) P oF G B

Options :

4058593595, a = —20°
4058593596, a = -3~
4058593597. a = -4

4058593598, a = —So°

Question Number : 33 Question Id : 4058591137 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A coin 1s placed on a disc. The coefficient of friction between the coin and the disc
is 1. If the distance of the coin from the center of the disc 1s r, the maximum
angular velocity which can be given to the disc. so that the coin does not slhip away.
T4

Options :
HE

4058593599.

ne

4058593600. ¥ ”

¥

—

4058593601, YH&

1]

4058593602, v'&



Question Number : 33 Question Id : 4058591137 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e (et [odl godl ((5%) W@ Tl 5| [ad @ 9l & &g gy07 I[uid
1 T | T 1 9l & D5 4 gl » &1 Ibdl Bl faan a1 ag Sii¥ead Sy
a1, forges forw fyaesT aree @f 3R = fhad. © -

Options :

HE

4058593599. ¥

ug
4058593600. ¥ *

I

4058593601, YH€

1

4058593602. v'=

Question Number : 34 Question Id : 4058591138 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



In the given arrangement of a doubly inclined plane two blocks of masses M and m
are placed. The blocks are connected by a light string passing over an ideal pulley
as shown. The coefficient of friction between the surface of the plane and the
blocks 15 0.25. The value of m. for which M= 10 kg will move down with an

. 3. L et i
acceleration of 2 m/s<, 1s: (take g = 10 m/s” and tan 37° = 3/4)

Options :

4058593603, 4.5 kg

(]
=
g

4058593604,
4058593605, 2-25 kg

4058593606, 0-5 kg

Question Number : 34 Question Id : 4058591138 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

18 T o I <1 SiHd dal 1R U M T m SodqH D1 &l e 9 g | &
TTed U 38R Yail I oI aTell god! SR Y oS © | ddl 1 Udlel d e &
a9 gy 0T 0.25 B 1 m D1 a8 HF. o e A= 10 T -1 & 3R 2
m/s? & a0 Y T &Y, [ﬁtﬂ%g= 10 Tl T tan 37° = 3/4)

Options :



4058593603, 4.5 ke

4058593604 9 kg

4058593605, 2-25 kg

4058593606, 0-5 ke

Question Number : 35 Question Id : 4058591139 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

An artillery piece of mass M fires a shell of mass M, horizontally. Instantaneously

after the firing. the ratio of kinetic energy of the artillery and that of the shell is:
Options :
M

4058593607, M2

M,

4058593608, M

4058593609, M1/ (M)~ M;)

4058593610, Mz / (M) = M;)

Question Number : 35 Question Id : 4058591139 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



M, SEHH $1 UH AT M, SoTHH & TH e &f afas fewn J errdt g1 av
& IR 91 a9 a1 T 1 T Syutioff T 3N o

Options :
M
M,
4058593607. 2
M,

4058593608, M1
4058593609, M1/ (M;+ M>)

4058593610, Ma / (M; + M;)

Question Number : 36 Question Id : 4058591140 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Four identical particles of mass m are kept at the four corners of a square. If the
gravitational force exerted on one of the masses by the other masses 1s

- ZJ'E_ +1 | Gm”

——— |——. the length of the sides of the square is
32 | I

Options :

4058593611. 2

4058593612. 4L

| )
[--q

4058593613.

4058593614. 3L



Question Number : 36 Question Id : 4058591140 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

m SO0H & UP THH IR $U1 &1 U 97 & DH1 R @1 T ¢ | fg fordt ua
mﬂﬁwmﬁﬁaﬂﬁfm&nﬁﬁﬂgﬁuaﬂf@;‘fﬁfﬁaﬁﬁ
YOl &1 TS &

Options :

4058593611, 2

4058593612. 4L

4058593613. 2L

4058593614. 3L

Question Number : 37 Question Id : 4058591141 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A small steel ball is dropped into a long cylinder containing glycerine. Which one
of the following is the correct representation of the velocity tume graph for the
transit of the ball?

Options :

4058593615. !

4058593616.



-

4058593617. !

4058593618. 31

Question Number : 37 Question Id : 4058591141 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

I B T BIc] el a9 4R U o oo | Rd1 81 77l &
RIFT-RU & fow 79 o T &= 91 377 - 999 9% ot 500 3dl 6

Options :

3
4058593615. !
4058593616. f

4058593617.



4058593618, ‘31

Question Number : 38 Question Id : 4058591142 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The given figure represents two isobaric processes for the same mass of an ideal
gas. then

¥

Options:

4058593619, £1 7 P2

4058593620. £2 = P1

4058593621, £1 =P

4058593622, 2 = Py

Question Number : 38 Question Id : 4058591142 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Tt ame=l 7 & 99 So0HH & 0T &l gHaE! Hieparst &l o= § waikid
1% GRI <211 T 8. 99

V

Options :

4058593619, 1~ P2

4058593620. £2 = P

4058593621, £1=P2

4058593622, £2 = Py

Question Number : 39 Question Id : 4058591143 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The parameter that remains the same for molecules of all gases at a given
temperature 1s :

Options :

4058593623. mass

4058593624, speed

4058593625, momentium



4058593626, kinetic energy

Question Number : 39 Question Id : 4058591143 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
U &8 T qrogH R 91 1991 & 3{ufedl & fo7U 1 91 e 99 54l o

Options :

4058593623, <CHHI

4058593624, dIc]

4058593625, Td]

4058593626. s ol

Question Number : 40 Question Id : 4058591144 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two charges ¢ and 3g are separated by a distance '+ ' 1n air. At a distance x from
charge g, the resultant electric field is zero. The value of x is :

Options :

f(l+ﬁ]

4058593627.

(1+45)
4058593628. F

4058593629.



r

(1+45)

s

i l--ﬁ}

4058593630. [

Question Number : 40 Question Id : 4058591144 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&l A ¢ a3 A H ' G R RUT T ¢ 310 ¥ x g W Ul degaad
YA x PIAF T

Options :

f(l+ﬁ]

4058593627.

(1+45)

4058593628.

(=)

4058593629. ! /

'r(l--ﬁ}

4058593630.

Question Number : 41 Question Id : 4058591145 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Two conductors have the same resistances at 0°C but their temperature coefficients
of resistance are u; and a,. The respective temperature coefficients for their series

and parallel combinations are :
Options :

™ G
4058593631. 2 2

+0, O+,

4058593632. -

4058593633. 2

4058593634, s S

Question Number : 41 Question Id : 4058591145 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

0°C QR &I ATeep| T HicRIY FHM qUT YIaRIY 1Y 0Me HHRE: oy 3R a8
U7 v § GHI-IR H H 390 SId WicRIY a9 UM o

Options :
e G
4058593631. 2 2

+0, O+,

4058593632. -

4058593633.

4058593634, s



Question Number : 42 Question Id : 4058591146 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A rigid wire consists of a semicircular portion of radius R and two straight
sections. The wire is partially immerged in a perpendicular magnetic field

B=B,; asshown in figure. The magnetic force on the wire if it has a current 7 is:

@O 000

© 0l Ao

o ole e|le 7

0 o|e 0|6

© 00 0|0 |
o ole ole

0 0le oo
Options :

Ay
4058593635, 2iBR |
oA
4058593636, ~2iBR |
o
4058593637, iBR j

Y
4058593638, ~IBR |

Question Number : 42 Question Id : 4058591146 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U £ dR &1 U I R FIo0T BT Sfecde qul &l YT IiY 5 | Weidid fo § dr
Pl p-p, | FEHIY & H & D Edd SHY F S[AI @181 AfE dR A

yalied URT i 81 dl 59 IR O ardl g e &

©
o A\G
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®

LY
ra

Q00

rad
Y

000600 0
(OO SO OO,

©

Options :

My
4058593635, 2iBR |

%
4058593636, —2iBR |

et
4058593637, iBR |

Fat
4058593638, ~1BR j

Question Number : 43 Question Id : 4058591147 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A coil 18 places perpendicular to a magnetic field of 5000 T. When the tfield 1s
changed to 3000 T in 2 s. an induced emf of 22 V 1s produced in the coil. If the
diameter of the coil 1s 0.02 m, then the number of turns in the coil 1s:

Options:

4058593639. 7

4058593640. 140



4058593641. 35

4058593642. 70

Question Number : 43 Question Id : 4058591147 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U $Sdl Bl 5000 T. & U DY &7 b qaad @I gl e 2 § 1 &
JEADR 3000 T 81 91aT § dl podll § 3dl URA fa.a1.99 22V § | Sl Bl o™
0.02 Hi 81 dl Sl & BRI Bl TAT &

Options:

4058593639. 7

4058593640. 140

4058593641. 35

4058593642. 70

Question Number : 44 Question Id : 4058591148 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a plane EM wave. the electric field oscillates sinusoidally at a frequency of

5 x 10'% Hz and an amplitude of 50 Vm™". The total average energy density of the
electromagnetic field of the wave is : [Use £g = 8.85 x 10712 €2/ Nm”?]

Options :

-

4058593643. 1.106 = 107% Jm—



4058593644, 2.212 = 1070 1m=3
4058593645, 2.212 = 1075 Jm™

4058593646, 4.425 = 1073 Im—

Question Number : 44 Question Id : 4058591148 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U@ A fdgqgd Freeid o H faggd & 5 « 1010 Hz SMgRiauT 50 Vim™?
TATH & U1 Ieb 1 Gl Bl & | a¥il o faggd JHEd T & Bl $d 31¥d
ol gd : [fSUT8, €9 =885 x 10712 €2/ Nm?]

Options :

4058593643. 1.106 = 1078 Jm—

4058593644, 2.212 = 10710 1m=
4058593645, 2.212 = 1075 Jm™

4058593646, 4.425 = 107 Im™

Question Number : 45 Question Id : 4058591149 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The refractive index of a prism with apex angle 4 is cot 4/2. The angle of
minimum deviation is :

Options:



4058593647, On = 1807 — 24
4058593648, Om = 1807 — 34
4058593649, On = 1807 — 44

4058593650, O = 1807 —4

Question Number : 45 Question Id : 4058591149 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Y (apex) PIUI 4 P TUH BT SUTAIP cot 4/2 | FAqH [d=e DI 5

Options :

4058593647, On = 180° — 24

4058593648, O = 1807 — 34

4058593649, O = 1807 —44

4058593650, Om = 1807 —4

Question Number : 46 Question Id : 4058591150 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

When a metal surface 1s illuminated by light of wavelength 4. the stopping
potential 15 8V. When the same surface 1s illuminated by light of wavelength 3.
stopping potential i3 2V. The threshold wavelength for this surface is:



Options :

4058593651. 4.5k
4058593652. 34
4058593653. 54

4058593654, 9

Question Number : 46 Question Id : 4058591150 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oId foat o1 & Y &1 . T & UhTRI R VeI [ad oifdl § ad =il
faua sV 3| 99 99 g &l 32 GITaed & USRI gRI e W fohdl orar g
faRieft fava 2v g1 59 Ide & fore Sgelt avvresd &

Options :
4058593651, 4.5%
4058593652. 34

4058593653. 54

4058593654. 94

Question Number : 47 Question Id : 4058591151 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



If the wavelength of the first member of Lyman series of hydrogen 1s 4. The
wavelength of the second member will be

Options :
2l

_‘—.-"'-,

4058593655. 3

4058593656, 27

4058593657.

4058593658. 27

Question Number : 47 Question Id : 4058591151 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gfg gIEsio &f dIgh- AUf & YuUH ¥ak &1 duie e ). § a4 fgdia gasd &1
TG e BTt

Options :

9.4
4058593655. 32

4058593656, 27

4058593657. 3

4058593658. 27



Question Number : 48 Question Id : 4058591152 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[dentify the logic operation performed by the given circuit.

A o | .
B {0 |
Options :

4058593659. AND
4058593660. OR
4058593661. NAND

4058593662. NOR

Question Number : 48 Question Id : 4058591152 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=

20 a0 gy g1 vad vl ATONEH 9gdni-d:

A {ro | .
B —NI

Options :

4058593659. AND



4058593660. OR
4058593661. NAND

4058593662. NOR

Question Number : 49 Question Id : 4058591153 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The fundamental frequency of a closed organ pipe 1s equal to the first overtone
tfrequency of an open organ pipe. If length of the open pipe 1s 60 cm. the length of
the closed pipe will be:

Options :

4058593663. 60 cm
4058593664. 45 cim
4058593665. 30 cm

4058593666. 15 cm

Question Number : 49 Question Id : 4058591153 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U g5 3{1H Uig9 & g SH1gf &1 5 bl Wol 371 Uy & Jud I=E]
(first overtone) G| \H]q% %W%l qﬁ@iﬁ ﬁm 60 @ﬁ?ﬁfﬁﬁ
Uy &I aETg gk

Options:

4058593663. 60 cm



4058593664. 45 cm
4058593665. 30 cm

4058593666. 15 cm

Question Number : 50 Question Id : 4058591154 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If the percentage errors in measuring the length and the diameter of a wire are
0.1% each. The percentage error in measuring its resistance will be:

Options :

4058593667. 0.1%
4058593668. 0.2%
4058593669. 0.3%

4058593670. 0.144%

Question Number : 50 Question Id : 4058591154 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gfe gl IR &1 araTg ayT oo/ a1 & 119 8 Hiad 3 0.1% 81 39
yfcRiy & A1 § ufdwrd 3fe gk

Options :

4058593667. 0.1%



4058593668. 0.2%

4058593669. 0.3%

4058593670. 0.144%

Physics Section B

Section Id : 40585971
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 40585971
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 51 Question Id : 4058591155 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



A body starts falling freely from height A hits an inclined plane in its path at height
h. As a result of this perfectly elastic impact. the direction of the velocity of the

body becomes horizontal. The value of ;E for which the body will take the
7

maximum time to reach the ground 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 51 Question Id : 4058591155 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

U U 7 g 4 Gad 39 J -1 {TRAT UR™ 3Rl & 991 TP 3fHd ad J &
”méwmm%wqﬁw@ag%%wﬁw%éﬂﬁm

Qﬁﬁ[%ﬁﬁfﬁﬁ%l—ﬁﬂﬁ _ gforee fou ftvs @f gudi 90 do g
ﬁ@ﬂma{iﬁwé‘ﬂm

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 52 Question Id : 4058591156 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A solid circular disc of mass 50 kg rolls along a horizontal floor so that its center
of mass has a speed of 0.4 m/s. The absolute value of work done on the disc to stop
it 18 I.



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 52 Question Id : 4058591156 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

50 D1 U 319 TIBR It U Aol BRI &SGR SUaRe deddl &
o5 SOd GoIHM &g &I 1 0.4 HIA 81 Iddt &I AP+ & o 59 W fed T
®14 P ARy @=e) 71 Sl

Response Type : Numeric

Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 53 Question Id : 4058591157 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The depth below the surface of sea to which a rubber ball be taken so as to
decrease its volume by 0.02% 1s .

(Take density of sea water = 10° kgm™. Bulk modulus of rubber = 9 x 103 Nm™2,

and g =10 ms™)

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 53 Question Id : 4058591157 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

I & a9 Y 98 TTENs IR oY WIS 31 1ig B 3§ oI I IS 3T
0.02% ®H Bl 9l § Hi gl

(e 8. Tsl o/ &1 9 = 10° [HUTH, 368 BT 3= YRl Ul = 9
< 108 Nm™2. dUT g = 10 Hi&2)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 54 Question Id : 4058591158 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A particle performs simple harmonic motion with amplitude 4. Its speed 1s

increased to three times at an istant when its displacement 1s ==. The new
il

amplitude of motion is P4 The value of nis
3

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

1

Question Number : 54 Question Id : 4058591158 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TS S 4 ATATH Y I 3ATdd T Hdl ¢ | od ST fa=Im= ! S ar 3y &mu

B! AT < 1 7 §el & Sl g | 7 &1 =11 S %%I n &1 O
g |

Response Type : Numeric

7
i

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 55 Question Id : 4058591159 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A parallel plate capacitor with plate separation 5 mm 1s charged up by a battery. It
i found that on introducing a dielectric sheet of thickness 2 mm . while keeping
the battery connections intact. the capacitor draws 25% more charge from the
battery than before. The dielectric constant of the sheet 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 55 Question Id : 4058591159 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U IR Wi SR, fore] wiel & &9 &1 g3 5 il 5, &1 U acdl g
TafRrd fosgr T & 1 I8 uran o § o 5@t wiel & o= 2 fiedt giers @t e
URTAGYd A6 3G § 58 R UGd U 25% I 3d=1 U ld 8idl & &l
§e3 PR T G, TTeR DI WRIdGgdid g

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 56 Question Id : 4058591160 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Equivalent resistance of the following network 1s Q.

20 20

W WA oA
.Ir{-. ﬂ
125 e MK Ks
6Q R, 301 il
o fi

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 56 Question Id : 4058591160 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafad Jeas &1 9aqed iRy
20 20
et L O.{!
kg & - Ry R Ry
652 R, - _451| 30
o

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 57 Question Id : 4058591161 Question Type : SA Calculator

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

An electron moves through a uniform magnetic field g = B,i+2B, )T -Ata
E= = ] ¥

Q)

g

particular mstant of time. the velocity of electron 1s

%

magnetic force acting on electron is F = Sef N . where e 1s the charge

I

of electron, then the value of B 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

u=3i+5j mis-

:None



Question Number : 57 Question Id : 4058591161 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U SoacH U JHH TSI & b:=5”';+’_13“ 2 B T e g | faed
W51 < Eﬁ[aﬂ;:3{-\+5.f~m..s'%laﬁ‘r$§ W IFI g JUEKN

F =S¢k e El. 6T  30de B1 3aY &l B, BT HH TR

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 58 Question Id : 4058591162 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A small square loop of wire of side [ 15 placed inside a large square loop of wire of

side L (L = [?). The loops are coplanar and their centers coincide. The value of the
mutual inductance of the system is [y x 1077 /7. where x =

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 58 Question Id : 4058591162 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[ YO & IR & UD BIC TPR qU DI L (L = [2) Yol & U g DR g4 D
315X T 1 B | 0 YA T <14 & | (Hmd & yRERes IReved &1 A
Jrx107 [ 8. TRlx= |

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 59 Question Id : 4058591163 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Two waves of intensity ratio 1:9 cross each other at a point. The resultant
mtensities at that point, when (a) Waves are incoherent 1s I; (b) Waves are coherent

1s I, and differ in phase by 60°. If 410 thenx =
, X

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 59 Question Id : 4058591163 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

1:9 Tl 3IUTd 1 &l ol fad| fag R U GHR B UR el g1 39 fdg R
ORI TIFAT (a) 1,. 1@ O¥91 HARIGS A 6l (b) [, 96 A< HANESG 6l 6 a4l

Wﬁacé‘lt{ﬁf 29 e |
" iy
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 60 Question Id : 4058591164 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

The mass defect in a particular reaction 1s 0.4g. The amount of energy liberated 1s
nx 10" kWh, where n=

(speed of light = 3 x 10% m/s)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 60 Question Id : 4058591164 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U AT sififerar & goaam &fd 0.4 18 1 S99 Foll b1 HET n < 107 kWh g,
GIBTH= |

(e &, yaT=r bt 9re = 3 « 108 THA)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1
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Question Number : 61 Question Id : 4058591165 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

40585972
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Online
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40585972
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null



The linear combination of atomic orbitals to form molecular orbitals takes place
only when the combining atomic orbitals

A have the same energy

B. have the minmimum overlap

C. have same symmetry about the molecular axis

D. have different symmetry about the molecular axis

Choose the most appropriate from the options given below:

Options :

4058593681, . B. C only

4058593682, B- C. D only

4058593683, A and C only

4058593684, B and D only

Question Number : 61 Question Id : 4058591165 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R H&D| & WY YU gRI UGS He| Bl [HH0 aHi §ial § 5
I DR aTe] URHT] DHEDI

A. P Y IO SA 8ldl &

B. BT i 3ifdeam gidar g
C. B Nfigs 318 W guH guifa aidi e
D. B 31fUaes 31g R i gufifad gidi &

- feu T fament # 9 el SR I

Options :

4058593681, PO A, B. C

4058593682, P0¢ B. C. D



4058593683, AW A 3R C

4058593684, AW B IR D

Question Number : 62 Question Id : 4058591166 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

I[dentify the mixture that shows positive deviations from Raoult's Law

Options :

4058593685, CHCl3 + (CH;3),CO

4058593686. (CH3),CO + CsH;NH,

4058593687, CHCl3 + CgHg

4058593688, (CH3),CO + CS;

Question Number : 62 Question Id : 4058591166 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A3 & 90 O e foga ueiRia &3 are By & gg9m.

Options :

4058593685, CHCl3 + (CH;3),CO

4058593686. (CH3),CO + CgH;NH,



4058593687, CHCl3 + CgHg

4058593688, (CH3),CO + CS;

Question Number : 63 Question Id : 4058591167 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For the given reaction. choose the correct expression of K~ from the following :-

T

Fert\ + SCNT | = (FeSCN)

[ag) e (aq) ¥ fag)
Options :
| FesCN?" |
K= 2o
: [FQSJ’NRCN_ |
4058593689. | ]
o _I-'eFjCN"'J 1
14 - -
sosesosesn.  LF SOV
| FeSCN?* |
Be= ;_~j+ ' %:‘-
4058593691, L - J[ : J
Fet SCN_}
[
| FeSCN** |
4058593692.

Question Number : 63 Question Id : 4058591167 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

feu Ty srftferar & fag, f1 5 9 K & forw Tet siityoafda &l I+

".u

9w il
Fe(t) +SCNp, ) == (FeSCN) )
Options :
‘I@SCNZ*I
= 3+ —]
[ru }[HCN |
4058593689, ] ]
|-'er-;n:‘N3+}
K(' . e 3
4058593690. [Fe* [ sonT |
[FES{TNJ‘}
KL‘ = = —
o]
4058593691
[Fu3+1[SﬂTﬂ_}
K(_' = = =
| FeSCN** |
4058593692,

Question Number : 64 Question Id : 4058591168 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the factor from the following that dees not affect electrolytic conductance
of a solution.

Options :

4058593693, 1he nature of the electrolyte added.

4058593694, The nature of the electrode used.

4058593695, The nature of solvent used.



4058593696, Concentration of the electrolyte.

Question Number : 64 Question Id : 4058591168 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 9 39 RS & YgaH ol f4l f[deg & dgga sfudcH] arddd i
TS el Bl &

Options :

4058593693, HAE T T Sfuued &f Ui

4058593694, AN BT TTU TS P TP (e

4058593695, TATT T T [aaT- Tf Upid

4058593696, [0S0 STTHET Bl T

Question Number : 65 Question Id : 4058591169 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Integrated rate law equation for a first order gas phase reaction is given by
(where P; is mitial pressure and P, is total pressure at time 1)

Options:

(o 230 (OB

4058593697. t P,




2.303 P,
= %

k log-
4058593698, (2p, -R,)
2P,
22303 |
4058593699. : (2P, -P,)
P
2303 -
i YR
4058593700, (2P, - P,)

Question Number : 65 Question Id : 4058591169 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fealt wum Pife Ty Hfferar & fog Ierdaq a1 fHaa &
(T61 P; URIBY® 314 T4 P, §90 + IR Hel A6 ©)

Options :
7303 2P. — P
L 2.303 xleg[‘ .~ P,)
4058593697. t P,
- 2303 P,
= x log =
4058593698, (2p,-R,)
2P,
 — 2303 - |
4058593699. : (2P, -P,)
P,
L2303 -
i L7y
4058593700. (2P= P)



Question Number : 66 Question Id : 4058591170 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The correct sequence of electron gain enthalpy of the elements listed below 1s
A Ar
. Bt
. F
D.S
Choose the most apprepriate trom the options given below:

Options :

4058593701. D=C=>B=A
4058593702. C=B=D=A
4058593703. A=D>C=>B

4058593704. A=D=B=C

Question Number : 66 Question Id : 4058591170 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e T[T TTT @l $1 gaac T afed Tedl & Jo! 9H o

A Ar
B. Br
C.F
D S

- fau Y fdeedl O 9 981 SR 9

Options :

4058593701. D=C=>=B =A



4058593702. C=B=D=>A
4058593703. A=D>C=>B

4058593704. A=D=B=C

Question Number : 67 Question Id : 4058591171 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the oxides of group 14 elements
S10,, Ge0,. Sn0,, PbO,. CO and GeO. The amphoteric oxides are

Options :

4058593705, 5107, GeO;

4058593706, Sn0;. CO

4058593707, Ge0. GO,

4058593708, S1n0,. PbO;

Question Number : 67 Question Id : 4058591171 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

YIE 14 Tcdl & g sl R [daTR &3

$i0,. GeO,. $10,, PbO,, CO 3R GeO I H[FIES &:
Options:

4058593705.



5102 G’EDE

4058593706, S10;. CO

4058593707, Ge0. GeO,

4058593708, S10>. PbO;

Question Number : 68 Question Id : 4058591172 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify correct statements from below:

. The chromate 1on is square planar.

. Dichromates are generally prepared from chromates.

. The green manganate 1on 1s diamagnetic.

. Dark green coloured K,MnO, disproportionates in a neutral or acidic

[ 8w »

medium to give permanganate.
E. With increasing oxidation number of transition metal, ionic character of the
oxides decreases.

Choose the correct answer from the options given below:
Options:

4058593709, B. D. E only

4058593710, 4. B. C only

4058593711, B- C. D only

4058593712, 4. D. E only



Question Number : 68 Question Id : 4058591172 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

13 R g o 9 e e )

A. BIHE 319 & IHqdg 3

B. STSdIac] & UTg: Hifel 3 i f&ar ol gl

C. BATIHE 3G Hidgrad 1 Bidl 8|

D. ¢ &% T &1 K,MnO,, I IT 3{FiTg HIHH H AT BIPR
RATE Sl g |

E. Y401 4T F ged iTaIa G2 & WY e qem gedi o

- fau e fawent H 9 el 3R I

Options :

4058593709, P9U B. D, E

4058593710, P0T A, B. C

4058593711, P0¢ B. C. D

4058593712, PAA A, D, E

Question Number : 69 Question Id : 4058591173 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The metals that are employed in the battery industries are

A.Fe
B. Mn
C. N1
D.Cr
E.Cd

Choose the correct answer from the options given below:



Options :

4058593713, A.B.C.Dand E

4058593714, A. B. C and D only

4058593715, B- D and E only

4058593716. B.Cand E Dni}’

Question Number : 69 Question Id : 4058591173 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

At el B S R o e e @

A. Fe
B. Mn
C. Ni
. Cr
E.Cd
- fau e fam el T 9§ 981 SR 9:

Options:

4058593713. A.B. C.DUJE

4058593714, $dd A, B,CUGD

4058593715, PAUB. D UG E

4058593716, 900 B. C UG E



Question Number : 70 Question Id : 4058591174 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The correct statements from following are:

A. The strength of anionic ligands can be explained by crystal field theory.
B. Valence bond theory does not give a quantitative interpretation of kinetic
stability of coordination compounds.

C. The hybridization involved in formation of [Ni(CN) 4]2_ complex is dsp?.

D. The number of possible isomer(s) of cis-[PtClE(en}:]E_ 15 one
Choose the correct answer from the options given below:
Options :

4058593717, A. C only

4058593718, A. D only

4058593719, B. D only

4058593720, B- C only

Question Number : 70 Question Id : 4058591174 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 0 ggt P B

A.WW%W&MW%%%WﬁW

g&dl gl

B. YaioadT a= Rgid Iugsgdier gifiel & fae Wiiid of TEES
IR ol el o

C. [Ni(CN),]*~ ¥d & A H dsp? Fh0r w1 dal o

D. RI-[PtCl,(en),]* ™ H T=4dd THIGYd &1 =1 TP 5

- f¢u U foseul O 4 98! SR I




Options :

4058593717, PAT A, C

4058593718, PO A, D

40585937109. $dd B. D

4058593720, PAU B, C

Question Number : 71 Question Id : 4058591175 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'Adsorption’ principle 1s used for which of the following purification method?

Options :

4058593721, Chromatography

4058593722, Distillation

4058593723. Extraction

4058593724. Sublimation

Question Number : 71 Question Id : 4058591175 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

e § 3 forg e fafer & -siftreiwor Rigia &1 Sugn fear 9 82



Options :

4058593721, AUIeIG

4058593722, SIHd1

4058593723, T-amu

4058593724, JEaUTa

Question Number : 72 Question Id : 4058591176 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I (Technique) LIST II (Application)

 |picnaie L Sepa:ratfon of glycerol from
spent-lye

B. |Fractional distillation II. |Aniline - Water mixture

O[St fiy; [Seprnn ok chide oil
fractions

D. Distillation under reduced 1 [hilorofomm - Anitine

pressure

Choose the correct answer from the options given below:

Options:

4058593725, A-L. B-II. C-IV. D-III

4058593726, A-IL B-III. C-1. D-IV

4058593727, A-IV. B-I. C-II. D-III

4058593728, A-IV. B-III. C-II. D-I



Question Number : 72 Question Id : 4058591176 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

! 1 BT e G 1 3 &
H 1 (@F1D) 1 11 (WA
A |3MgaH I (9 R U FERId &1 gydhul
B. |WHTSI 3M14aH 1. [UFefe - e fers
C. | UM Tgaq 111 [ diel o WIS ol GYdasel
D. [P gE R amaaT |1V [FaRien - Bfefi=
A= feu e fow el o 9 9l 3w I
Options:

4058593725, A-L. B-II. C-IV. D-III

4058593726, A-IL. B-III. C-1. D-IV

4058593727, A-IV. B-1. C-II. D-III

4058593728, A-IV. B-III. C-II. D-I

Question Number : 73 Question Id : 4058591177 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements:

Statement - I: Noble gases have very high boiling points.

Statement - IT: Noble gases are monoatomic gases. They are held together by
strong dispersion forces. Because of this they are liquefied at very low
temperature. Hence, they have very high boiling points.

In the light of the above statements, choose the correct answer trom the options
given below:

Options :



4058593729. Both Statement [ and Statement I are true.
4058593730. Both Statement I and Statement I are false.
4058593731. Statement I 1s true but Statement II 1s false.

4058593732. Statement I 15 false but Statement I 1s true.

Question Number : 73 Question Id : 4058591177 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TR FYT U U E:

HYT - 1: IHY T 1 DY A~ I Bldl o

DYT - 11: IHY 1Y Uh-GRAI0GS 79 5 | 9 199 § Haa giamu (fEegds)
gal RIS Bld 3 | 39d HRU 4 3= 5 d10 R gdidhd 8ld § | 3(d: I7I
FaY® Ad 3= Bidl o

U Bl & HeH H i fu Y 9l © 9 el O I

Options :

4058593729, Gl PUA 1 AU BYF 11 Hel &

4058593730, &I YT 1 AYT Y 11 7Tdd &

4058593731, YA 1 el g i HY II 7TaTd §

4058593732, BYT 170 & dfdh By 11 Jal &

Question Number : 74 Question Id : 4058591178 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

A species having carbon with sextet of electrons and can act as electrophile 1s
called

Options:

4058593733, pentavalent carbon
4058593734, carbon free radical
4058593735. carbanion

4058593736. carbocation

Question Number : 74 Question Id : 4058591178 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ag Wiefiy forgd @ & U 8 (Ya9ce) Saaei- g aul sadel- el & =4
o o1 o3 9 dl &l Hedardl o-

Options :

4058593733, UgHIG HIa-

e
4058593734, Pla- Had HlP

4058593735, BIEHUNI

4058593736, BTG

Question Number : 75 Question Id : 4058591179 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: TUPAC name of HO — CH, — (CH,); — CH, - COCH; is
7-hydroxyheptan-2-one.

Statement II: 2-oxoheptan-7-ol is the correct IUPAC name for above compound.
In the light of the above statements. choose the most appropriate answer from the
options given below:

Options :

4058593737. Both Statement [ and Statement I are correct.
4058593738. Both Statement [ and Statement I are incorrect.
4058593739. Statement [ is correct but Statement II is incorrect.

4058593740. Statement I 15 incorrect but Statement II is correct.

Question Number : 75 Question Id : 4058591179 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

9 Py RN &

@Y I: HO - CH, — (CH,); — CH, — COCH; &1 IUPAC A
7-BISSIaRP-2-3 §

®Y I1: SUYad JIP DI had Hel IUPAC A © - 2-3HdHgPA-7-3i1d
Sudead Al & "au H i f4u U fawedl ¥ ¥ wallds Iugad 3w -

Options :

4058593737, Al BUF 1 AU BYF 11 F8l &

4058593738, &Il BUF I TYT HYH 11 TeId ©

4058593739, DU 1 eI & TR HYUF 117107 &



4058593740, PUT 1 TTCId 8 IR PYT I He1 ©

Question Number : 76 Question Id : 4058591180 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The product (C) in the below mentioned reaction is :

K{}”W‘i}

o — g ij' s C
(aq)

CH,-CH,-CH,-Br
Options :

4058593741, Propene
4058593742, Propyne
4058593743, Propan-1-ol

4058593744, Propan-2-ol

Question Number : 76 Question Id : 4058591180 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
i Sfeafad sififesar § 3dE (0) 8 -

KOH;
CH,- CH,-CH,-Br _ﬁl'.ﬂlci , A __HBr o

A .
3
KDH{HL]]

Options :

4058593741, UG



4058593742. ke =N

4058593743, WIUA-1-34d

4058593744, WIUH-2-341d

Question Number : 77 Question Id : 4058591181 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion A and the other is
labelled as Reason R:
Assertion A: pK, value of phenol 1s 10.0 while that of ethanol 1s 15.9.

Reason R: Ethanol is stronger acid than phenol.
In the light of the above statements. choose the correct answer from the options
given below:

Options :

4058593745, Both A and R are true and R is the correct explanation of A.

4058593746, Both A and R are true but R 1s NOT the correct explanation of A.

4058593747. A is true but R 1s false.

4058593748. A is false but R 1s true.

Question Number : 77 Question Id : 4058591181 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



%ﬂ%ﬁmﬁnw%waﬁ&ﬁmmaw@aﬁWRﬁwWw

sifirmu A Wt pK, 14 10.0 § Said U1 BT 15.9 B
SR R: VIS, PHIA 3 Tad 35 6|
Sudad wyHl o de H = f3u e fased O 9 98l 3w I

Options :

4058593745, Gl AUG R Hel ¢ a4l A P! el ARATR B
4058593746, &Il AUT R Tel € i A P! 9! AR R o1 &
4058593747, A 6! § TRJ R 7Tl 5

4058593748, AT ¢ T R TRl ¢

Question Number : 78 Question Id : 4058591182 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion A and the other is
labelled as Reason R:

Assertion A: Alcohols react both as nucleophiles and electrophiles.

Reason R: Alcohols react with active metals such as sodium, potassium and
aluminum to yield corresponding alkoxides and liberate hydrogen.

In the light of the above statements, choose the correct answer from the options
given below:

Options :
4058593749, Both A and R are true and R 1s the correct explanation of A.

4058593750, Both A and R are true but R 1s NOT the correct explanation of A.

4058593751. A is true but R 1s false.



4058593752. A is false but R 1s true.

Question Number : 78 Question Id : 4058591182 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
4 &l Py U U B | U &I SHUDHYT A TUT GER DI DRUTR e (a1 ]
%.

a}r‘uaguqmc—mﬁs‘mﬁwaﬁqa‘ S g A e i ot
GRS

®RUT R: Tedblold Aiohd Y14 ol SifsaH, defRmm ud tqi=adg & |y
SHTHTHTT HR T UedIaISs §41d & qUl SIS g (HHad BRd &
Sudad Yl & ey I e feu e fdeed! & 9 981 3w I

Options:

4058593749, &I AUG R Hal ¢ a4l A P! Al ARATR B

4058593750, &l ATG R Hel § T A Bl gl URATR Toi o

4058593751, A ¥E1 € TR R TTeid ¢ |

4058593752, AT § T R Tl ¢

Question Number : 79 Question Id : 4058591183 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LIST1I LISTII
A |Glucose/ NaHCO5/A I |Gluconic acid
B. |Glucose HNO; II. |No reaction
C. |Glucose/HI'A III. |n-hexane
D. |Glucose/Bromine water| IV. | Saccharic acid

Choose the correct answer from the options given below:
Options :

4058593753, A-L B-IV, C-IIL. D-II
4058593754, A-IV, B-I. C-III, D-II
4058593755, A-III. B-IL. C-1. D-IV

4058593756, A-II. B-IV. C-III. D-I

Question Number : 79 Question Id : 4058591183 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 e gt 1 3 &3

Geill g
UPHNHCO;/A| 1 [eife s
T [G/HNO, 1. [l3 HHfshar 78!
TPHHLA 1L |n B
TeEIHA T |1V [SfEe sra
- fau Y fdeedl O 9 981 SR I

Options :

olofw]|w

4058593753, A-L. B-IV. C-III. D-II

4058593754, A-TV. B-I. C-IIL. D-II



4058593755, A-IIL. B-II. C-I. D-IV

4058593756, A-IL. B-IV., C-III, D-I

Question Number : 80 Question Id : 4058591184 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The compound that 1s white in color is
Options :

4058593757, ammonium arsinomolybdate

4058593758. lead 1odide

4058593759, lead sulphate

4058593760, ammonium sulphide

Question Number : 80 Question Id : 4058591184 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=1 & ¥ 9t W H1 3 T

Options :

4058593757, AT snfd—iaftsse

4058593758, U3 STUISISS



4058593759, T8 Hehc

4058593760, HHITH HebI5S
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Question Number : 81 Question Id : 4058591185 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Number of moles of methane required to produce 22g CO, () after combustion is
SN =T

3 Fi
% =107 moles. The value of x 1s

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 81 Question Id : 4058591185 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

09 & ATl D SHaGH TR Sl &6+ & SURT 22 CO, () ST BT Bl x

1072 T1d & 1 x T 0 & .

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 82 Question Id : 4058591186 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The ionization energy of sodium in kJ mol™!, if electromagnetic radiation of
wavelength 242 nm 1s just sufficient to 1onize sodium atom 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 82 Question Id : 4058591186 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gf¢ Aifsgn WA &1 31aHd B34 8 [d5gd Jrao i f[afdu o1 242 nm
TG e gaid g al 9Ifsad &t SR 36l (kI mol ™! ) &: .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 83 Question Id : 4058591187 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. . . . 3
The number of species from the following in which the central atom uses sp”
hybrid orbitals in its bonding is

NH;. SO,. S10,. BeCl,. CO,. H,0. CH,. BF,
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 83 Question Id : 4058591187 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



foeT o & wdiRiioT ot T foraH dsdd ORAT] §RT 310 31a=H H sp® Hum
1 SN [HAT T 8. 3 |

NH;. SO,. S10,. BeCl,. CO,. H,0. CH,, BF,

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 84 Question Id : 4058591188 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. . . . - = 19
- = . . 3 5 e I e 2
CGilEnlClﬁl thﬂ fOHGT‘L mg reaction at 298 K. _j 02' g) v~ [-},H g) RP =247 = 10 :

ﬂrf}(:} for the reaction is kJ. (GivenR = 8.314 JK I mol™)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 84 Question Id : 4058591188 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

: 3 .
208 K W 7 ST RITTRTE =0,y = O3,y: Kp=247 % 1077
> U2(g) :

S Mfeha & fTg A GO #: k1. (fearmarg:

R =28.314 JK~! mol™)



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 85 Question Id : 4058591189 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

One Faraday of electricity liberates x x 10~ gram atom of copper from copper
sulphate. x 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 85 Question Id : 4058591189 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U BRTS [deqd DITR Fehe [aad- Y x « 10~ I DIUR YRA] (HHad Bl
glxPIOAG:

Response Type : Numeric

Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

1

Question Number : 86 Question Id : 4058591190 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The 'Spin only’ Magnetic moment for [Ni(NH 3]6]2_ 18 <1071 BM.
(given = Atomic number of Ni: 28)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 86 Question Id : 4058591190 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

[Ni(NH;)o]>™ T FdHU 0B I g e <107 BM. g (fear
&: Ni @I GRHTY ShHid: 28)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 87 Question Id : 4058591191 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

Number of alkanes obtained on electrolysis of a mixture of CH;COONa and
C,H;COONa is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 87 Question Id : 4058591191 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CH;COONa Ud C,H;COONa & U fHY0 &1 fdggd 3(quc o3 T U
UeehH1l &1 §A1 & :

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 88 Question Id : 4058591192 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

C,H.OH
—=——— Product A

CH,CH,Br + NaOH —

H,O
= Product B

The total number of hydrogen atoms in product A and product B 1s



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 88 Question Id : 4058591192 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
C,H.OH

> TR A

CH.CH ,Br + NaOH —
o H,0

}?-W:B

JdIE A U4 31 B T gIEsioH YRHIV[S{ &1 il U&= 5: .
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 89 Question Id : 4058591193 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The product of the following reaction is P.

CHO

(i) PhMgBr(l equiv.)

(i1) aq.NH 4CI >P

OH

The number of hydroxyl groups present in the product P 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 89 Question Id : 4058591193 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
1 siftrfpar o Sae p &

CHO

(i) PhMgBr(1 equiv.)

s P
(ii) aq.NH4CI

OH
3T p H greSTae Tug @ we |
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

1

Question Number : 90 Question Id : 4058591194 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Molar mass of the salt from NaBr. NaNO;. KI and CaF, which does not evolve

coloured vapours on heating with concentrated H,SO, 1s g mol™L,
(Molar mass in gmol™ : Na:23.N:14.K:39.0:16.Br:80.1:127.F : 19. Ca
: 40)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 90 Question Id : 4058591194 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
NaBr. NaNO;. KI Ud CaF, H ¥ 98 TaUl Sl |15 H,S0, & 91 T &= IR
T 919 39 g] Bl o, BT HIR o0HH o g molL.

(g mol~! T HIeR So0H: Na: 23.N: 14, K :39,0: 16, Br:80,1:127.F : 19,
Ca : 40)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :






